FR Answers
2008 B:

1a. i. 0.0313M

      ii. 0.969 atm

b. K = [AsF3][F2]/[AsF5]
c. i. 0.0226M

    ii. 0.00333

d. 0.217

2008:

1a.  Kp = (PP CO)e2/(PP CO2) 
b. 0.105 mol

c. i. 6.74 atm

    ii. 27.9

d. total pressure with or without catalyst is the same. Catalyst speeds reaction up, but doesn’t change the extent of the reaction. K stays the same, as do the concentrations.

e. PP CO2 will decrease as system approaches equilibrium (aka Q = 2.00, less than K).

2016:

6.a.  0.10M

b. moles increases because % dissociation of Ba(EDTA)2- increases as solution is diluted. Also can calculate Q as proof. 

